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040404 전체의 분수만큼 (연속량-길이) A
3-2 � 분수

☺ 빈칸에�알맞은�수를�쓰세요.

  0     12cm

⑴� 12cm의� 


은?� 12cm를�똑같이� 4조각으로�나누면,�한�조각은� 12 ÷ 4 = 3 (cm)

⑵� 12cm의� 


는?� 2조각� : 3 × 2 = 6 (cm) � � �⑶� 12cm의� 


은?� 3조각� : × = (cm)

  0     18cm

⑴� 18cm의� 


은?� 18cm를�똑같이� 3조각으로�나누면,�한�조각은� ÷ = (cm)

⑵� 18cm의� 


는?� 2조각� : × = (cm) � � �

  0      24cm

⑴�24cm의� 


은?� 24cm를�똑같이� 6조각으로�나누면,�한�조각은� ÷ = (cm)

⑵�24cm의� 


는?� 2조각� : × = (cm) � �⑶�24cm의� 


은?� 3조각� : × = (cm)

⑵�24cm의� 


는?� 2조각� : × = (cm) � �⑶�24cm의� 


는?� 3조각� : × = (cm)
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